
 

1.​  20 + 3(5 - 1) =  
  

2.​  3 + 2​2​(1+8) ​=  
  

3. ​ (5 • 4 )​2​ =   
  

4.​  2( 3 + 5 ) - 9 =   
  

5.​  2[ 13 - ( 1+6)] =    
 

6.​  48 / 3 + 5 =   
 

7.​  3(6+4)(5 - 3) =  
  

8.​  100 - 4(7 - 4)​2​ =  
 

9.​  1​2​ + 2​2 ​+ 3​2​ =   
  

10.​   (24 - 6)/2 =    

  

  

 

11. Lindsay and Diego are arguing over the 
following problem.  Lindsay says the solution 
is correct.  Diego says that the solution is 
wrong.  Which student has the correct 
answer? 
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12.

 
 

 

12. Would you be happy if you received the 
following score on  a test? 

 

Choose: 
 ​Yes 
 ​No 

 


